Secondary 3 Honors

Notes

Solve the following 3 equations:
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a) 3x+2y+4z=11
b) 2x—-y+3z=4
c) 5x—-3y+5z=-1
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Solve the following 3 equations: A
a) x+y+z=2 \5:21&
b) 3x+3y+3z2=14 bl

c) x—=2y+z=4
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Solve

The University of Utah and Brigham Young University scored a total of 39 points during the 2015
Las Vegas Bowl. The points came from a total of 11 different scoring plays, which were a
combination of touchdowns, extra-point Kicks, and field goals, worth 6, 1, and 3 points
respectively. The same numbers of touchdowns and field goals were scored. How many

touchdowns, extra-point kicks, and field goals were scored during the game?
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